A HE =R

(TR I NEYT—2ay
O (FETH BEUNEYT—2av B

*E S EE1E, 28, 38 ERBD

EXY—ERE(A%)

(1B&HEYDxE

NEZARBREROLYSD
20184 8A1HHIE

18{1=10.88M)

X % EREN EEEE] 2E[EIE 3Z[EH
SRR NEYT— 3y 290 Hifsf 316 A 631 { 947 H
NEFHHBINEYTF—ay 290 Hifi 316 { 631 { 947 H
[(E)(A%E)
SHENE)T—3y
% T EAE EIEEE 221 E e REIESEE]
UNEYT—YavRAY AVMINE T 23081 A 251 { 501 M 751 {
UNEYT—YaueRY AVMNE T 280E i~ H 305 H 610 { 914 H
UNEYT—YaueRry AV MINE I 320& L~ A 349 H 697 { 1,045 H
UNEYF—SauRAY A MIE 42@%&%@ 457 { 914 [ 1371 M@
%igﬂ%%ﬁq;);}é\;%ﬂgéﬂﬁajgﬁ:m 200 Efu 218 H 436 M 653 [
HEsmMIIEME 17 B 19 M 37 H 56 M
H—E R AFIME 6 H{ 7 B 13 { 20 M@
NEFRFEAR) NEYT—2 3
73 A ER S R R AN EI S CED)
UNEYTF—auRAY AVMINE 1 230Ef1 A 251 @ 501 { 751 {
=] 1 1)3—=3,3%F .
%&’ﬁé%ﬁfﬁ}é\;%ﬁﬁﬁj}g%m 200 Efy 218 H 436 M 653 [
SN EEENE B 1ERE 300 Bifsf 327 H 653 { 980 H
H—E R EAEFINE 6 Bifi 7 A 13 [ 20 H
[RBEE] £EBCEEGEER)
% a1 EANE
0 A |H—ExZHEN(EFR, £RK., BEKXO—ERHi)
REE =% H—E Rt izt
(BEMADGSIEAE1FOA—MLHT-Y100M)
(FIREGEEEAE]

Hhig Bl x BAr 3 =OOM (1 HERHETIVYIE )
OOH—- (OO x &#HEIEX1 (THERBIVET))=AAR(FIAEHAIEL)
X1 BEISI1EE8ENEE:09, 28&HN1545:0.8, 3EEHEHNIZEE:0.7



